Social Paper - I1

Time : 2 Hours] . - [ Max. Marks : 35 |

SECTION-I | (5 x 2 = 10)

Note : 1. Answer A.NY FIVE of the following questions, c]zoosmg

ol ol

® N o

at least TWO from each Group A and B.
2. Each question carries TWO marks.

GROUP - A

Explain how India can be called a Sub-continent:

What is meant by Monsoon burst or break:?

What is Soil erosion ? What are the agents of soil erosion ?

What is the need for irrigation development in India ? 7
GROUP-B

Explain the meaning of thé Unorganised Sector.

What is the role of Public Sector in Indian industrialisation ?

‘What is Economie Planning ?

Differentiate between Involuntary and Voluntary Unemployment

SECTION-II | (4 x1=4)

Note : 1. Answer ANY FOUR questions in one or two sentences.

9.

10.
1,
12.
13.
14.

2. Each question carries ONE mark.
Name any four International Air-ports in India.
What is Pass ?
What is density of Population ?
Define Poverty Line.
Elaborate S.E.Z.
What is Livestock ?
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SECTKHJIH -'(4x4 16)

Note : 1. AnswerANY FOUR of the fo]]owmg questlons choos-

15.
16.
17.
18.

19.

20.
21,

22.

ing TWO from each Group A and B. _
2. Each question carries FOUR marks.
| | “ GROUP - A |
Describe the importance of the Himalayas.

- What are the causes of the rapid population growth in India?

What do you mean by a Multlpurpose Prmect" Mention its
main objectives.
How the Roadways are better than Railways?

GROUP-B

What are the charactenstma of Indian economy durmg the

British period ?

Explain the different coneepts of Inflation.

What are the general and specific objectives of Plannmg in
India ?

Explain‘various programmes launched by the Government
for promotion of Employment.

SECTION - IV - (1x5=5)

Note : Mark the following pla_ces in the given outline Map of India.
23. GROUP-A

1. Eastern Ghats . 2. River Mahi 3. Tripura

4. South-Central Railway Headquarters 5. Chennai’
(OR)

GROUP - B

1. National Highway-5 2. Nagpur
3. Hyderabad to Calcutta Railway line

4. Aravalh Hills 5. Bay of Bengal
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Time : 30 Minutes] PART - B [ Max. Marks : 15 _

I.  Choose the correct ans wer and write its letter in the bracket

provided. ' o (10 x % =5)
1. Which state stands on three seas? (. )
(A) Andhra Pradesh . (B)Kerala
(C) Tamil Nadu (D) Karnataka ’
2. India receives bulk of rainfall from ', ' ( =)

(A) North East monsoons (B) South West monsoons
(C) Retreating monsoons (D) Eastern monsooné

3. Where is the “Ram Ganga Project” ? ( )
(A) Madhya Pradesh (B) Andhra Pradesh
(C) Uttar Pradesh (D) Himachal Pradesh

4. The following island lies closestito the Eugator. ( )
(A) Andaman (B) Greater Nicobar
(C) Pamban _ | _ | (D) Small Nicobar

5. K2 mountain peak is in ‘ ( )
(A) Karakoram. | (B) Pir Panjal Range
(C) Himachal (D) The Himadri

6. The “Health for All” strategy changed as ()

(A) Health (B) Health for Underprivileged
(C) Health Centres (D) Health for Landlords

7. Indira Awas Yojana | ()
(A) Health Plan ., (B) Economic Plan
(C) Water Plan (D) Housing Needs

8. Irrigation is helpful for o ( )

(A) Economic Development
(B) Developing the towns

(C) Agricultural Development
(D) Electricity |
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‘9.

10.

India’s per éapita inco.me in 1995 is- ' ( )
(A) § 340 (B) $ 620 (C)s766 (D) $ 460
Andhra Pradesh coast-line in kilometers - ( )

A)772km B)972km (C)872km (D) 878 km

1. Fill in the blanks with suitable answers. (10 x % =5)
| 5 T — is the man-made Port.
12. India is separated from Sri Lanka by ...............
13. Sandal wood is produced mainly in ................. forests.
14. Therank of Andhra Pradesh in level of urbanization s ............
15. The tribal agriculture is called as ....... 7. '
16. Indian Planning started in the yeart.....q...... e
~ 17. Removal of Poverty (Garibi Hatao) was important during
................. period | |
18. Income earned through wealth and property is known as .....
| 2 - - distinguished between involuntary and voluntary
Unemployment. -
20. Vice-Chairman of Indian Planning Commission is.................
HI. Match the following. (10 x %2 =5)
(1) Group-A Group-B
21. The roof of the World ( ) (A) Urbanization
22. Manasarovar ( ) (B) Fish
23. Population live in .
cities and towns. ( ) (C) Agriculture
24. Blue Revolution () (D) Tibet
25. Kolar (. ) (E) Gold -
(F) Brahmaputra
(G) Silver

(H) Milk
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i)

Group-A Group_-—B
26. Centralised Planning ( ) (A) DR. Gadgil
27 Miied Economic R o .
 System” ( ) (B) IAY, UBS
28. Economic drain ( )} (C) China
29. Green Revolution ( (D) India
30. Social Housing
Scheme ( ) (E) HY Vseads
(F) Socialist system
(G) Dadabhai Naoroji
ANSWERS TO PART -B
L WC @B, ®C @B (¢ a
(6) B (M. D 8 C 9 A (10) B
II. (11) Chennati port (12) Palk Strait and Gulf of Mannar
(13)»Karnataka (14) 5th  (15) Jhooming

(16) 1951 (17) Fourth five year plan (1969-74)
(18) unearned income {19) J.M. Keynes
(20) M.S. Ahluwalia

1L (21) D (22) F (23) A (24) B (25) E

(26) F 27 D (28) A (29 E (30) B
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